S

YnpoiueHue BbIPpaKeHUH

Omimanosa JI.1



1)35:9-2=

2)8-45-2= 720
3)25:-19-4= 1900
4)125-67-8 = 67000

5)46:4-25= 4600
6)78-2-5= 780
7)2-99:-5= 990

8)24-4-25= 2400
9)50-33-2= 3300



Jns BoipaXkeHM U3 1eBOro cTONIOMKA HalOAMUTE T1apy U3 NMPaBoro.
CoeaMHHUTE UX CTPEIOYKAMU.

Sx + 3x — 4 8a
(5+y)-4 4x
4a - 3 \ 45x
1§y_ o " }' x4
4x 62 20 + 4y
9-x-5 12a

Sy —2

3y



Bapuanm 1

YnpocTure BhIpaXeHHs. Q

18m + 22m
c+ 14c
4x + x
12y — 7y
25t — 13¢
6x+4+2x+7
7+6y+y+4
12x + 12x — 6x
By —y—y

3a — 3a + 8a




Bapuanm 2

Y1pocTHUTe BhIpaXEHUS. Q

25x + 15x
8m+ m

z+ 197
12y — 3y
21a — 20a
Tb+8+3bH+9
5+7x+x+ 11
9k + 9k — 4k
4p—3y t+y
8b+bH—9b




Bapuanm 1

YIIpOCTUTE BHIPAXKECHHUA. Q

18m + 22m =30 m
c+ 14c =]5c

4x + x =5x

12y — 7y =Jy
25t — 13t =12t
b6x+4+2x+7 =8x+ 1]
7+6y+y+4 =7y + 11
12x + 12x — 6x =16«
By—y—y =11y

3a — 3a + 8a =8a



Bapuanm 2
Y1pocTUTE BhIpaXXECHUS. \

25x + 15x =40x

8m + m =9m

z+ 19z =20z
12y — 3y =9y
21a — 20a =a
7b+8+3H+9 =]10b+17
5+7x+x+11 =8x + 16
9k + 9k — 4k =14k

4y —3y+ty =2y

8b+b—9b =()



